V7 A DB EMERERR (FR28FE)

(RRA)
5 = WEEES L
K R [ENIG |THETA B4 Fie = T34 37
5898 7.1 BRHE9(<3.9) 7.06
AREE R
3878 5.1 BRHE9<48) 5.11
5898 BREET |[BREETK6.1)|HmHET(6.8)
KARS
3878 5.4 BREE94.2) 5.41
58118 7.2 BREE94.2) 7.23
ARTAJI | FBREAT) I T
28178 | BHET |[BRHEEI LS| BREET (5.4
58118 | BHEd |BRHEEI33)|HREET(3.8)
BT
28178 | BHET |[BRHEEI )| BREET(49)
58118 6.0 BRHEE96.5) 5.97
E*H]- -~ -~ -
AR 1| 537 | 2A208 | BHET |BRHEETGED|REETAI)
K& BAR 589H 4.4 BHE935) 4.39
£
3878 BREET |[REETK56)|BHET(K45)
ARZEHT
5898 7.2 BREET44) 7.18
REI
3878 5.1 BRHEE95.2) 5.06
5898 BT |[REETKH|HBHETKT.0)
Z) KARSH
3878 BREET |[REETK5.0)|HEHET5.2)
58138 | #HEd |BRHEEI L) | BREET(4.0)
) (BRE )BT
3128 | BHET |BRHEEI LD |HREET(K6.5)
58118 | BHEd |[BRHEEI L) | REET(4.6)
Al BT
28178 | BHET |[BRHEEI eI | HREET(5.4)
5A158 | #HEd |BRHEEI 34| HREET KD
BRI
52 531 L s3] 2148 | BHET |[BRHEEI L) | REET(45)
Kz THET | X ) )
5A158 | #HEd |BRHEI 3.9 |HREET(3.6)
I
2148 | BHET |[BRHEEI )| BREET(4.9)
=il . 6898 BRHEEY |[BREEI 3| REET(4.3)
() . B . . .
BiA™ 389AH BREET |[BREET L) | HBHET(K46)




]|

K%

=11 A 5828 BREET |[REETKH)|HBHET 34
(FiR) BB . . .
3ASH | BHtET |BHEETKs8)|BHEETK64)
EE “lt N E%Vﬁ 5A198 | BEET |BRHETKR9)|HmHET(K45)
) R R
o b 28218 | BEET |[BREETKSED)|#HEETK6.5)
KB Bk 5A18H | BEET |RHETL2)|HRHET(K46)
(k) i R R R
2208 | BHEET |BEET32)|BEETK25)
- 21 5A25H | BEET |BRHETKE)|HRHET(6.3)
2 )
. L JAI0B | MIEHT |REHTA)| BHEETG2)
EReA
o g~ S5A228 | BRUEYT |[RHET )| REETKL
EHI B
L JAI0B | MEET |BREEHTD)| BHEETET)
. K| 5A25H | BEET |RHETK5H)|HRHET (5.0
KEFNI o
i 3A1E | BHET |BEETK0) | BEETKS50)




V7 A DB EMERERR (FR28FE)

(BIEA)
= METEES D L
HETA | RiRE & 134 137
A 9H208| #®HEET BRHET (<3.4) | HBEET«5.3)




